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5 WAL |0.888(0.789 |0.701 [0.623 |0. 554 |0.492 0.437 [0.388 |0. 345 |0.307 |0.272 |0. 242
6 | IFTHMAETEWME |-1598)-1420 259 | 565 | 724 | 643 | 571 | 507 | 451 | 401 | 356 | 549
7 AR -1598| -3018| - 2759 - 2194| - 1470, —827 | -256| 251 | 702 | 1103 | 1459 | 2008

e RE

a7 3 ;

i AEERRFIER = (1 +12%/4)4 -1 =12.55%

BEFARY TR RALRE BIHrARALSRERLE 1.6,

(A1 R 4 ;

fi# T S ERE RO = [(6 1) +1 -10171/1307 ] 4¢ =5.78 4

B EH S SRREBEAN = [ (8 -1) + 1 -2561/507 ] 4F =7. 50 4

(RIS

25 R LSRR NPV = 2008 775 >0; B HVE RN = 5. 78 4F , 3h 8006 i =
7. SOAEX/INTF %I B A 12 4 (4R 45 e B UE R BT IO , RO R A5 L S B0E RSO 5 21
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1. @S mEA
[€(2.1 +4.8+2.1+0.24) x(4.5+3.3+3.3+0.24) -2.1 x(3.3-0.24) ] x2 43,3 x(1.2-0.12)
=[9.24x11.34-2.1x3.06] x2+3.3x1.08 =[104.782 -6.426] x2 +3.564
=98.356 x2 +3.564 = (196.712 +3.564) M* =200. 28 m’
2. VG THRE
Semsm =S +2Ly +16=98.356 +2 x (9.24 +11.34) x2 +16 =
(98.356 +82.32 +16)m” =196. 68 m’
3.ANTLHEME THERE
EEERERN:(1.5-0.15)m=1.35m>1.2 m
HORE O FFAZ , HOAE K BE AR tpU O 2T, NSRRI Z Rl A K 238, I
Lyw=0(2.1+4.8+2.1) +(4.5+3.3+3.3)] x2=[9+11.1] x2=40.2 m
Ly =(4.8-0.5) x2+(4.5-0.5) +(3.3-0.5) =8.6 +4 +2.8=15.4 m
Vi = {[1.0+2x0.3+0.5x(1.35-0.25)] x (1.35-0.25) + (1.0 +2 x0.3) x0.25} x
(40.2 +15.4)
={[1.040.6 +0.5x1.1] x1.1+(1.0+0.6) x0.25} x55.6=(2.15x1.1+1.6 x
0.25) x55.6 = (2.765 x55.6)m’ =153.73 m’
4. AL TR
B FAMEEA - S5 55 5 AR AR, AR R AR T -1.5+0.6 = -0.9m > - 0. 3m, i}
DL NI R R, R LA T s 5, LU A,
AR TREE
(1.5-0.25-0.35) x0.24 x[40.2 + (4.8 -0.12) x2 +(4.5-0.12) +(3.3-0.12) ] =
0.9x0.24 x[40.2+9.36 +4.38 +3.18] = (0.9 x0.24 x57.12)m’ =12.34 m’
5. NIRRT TR
4.8%(3.3-0.24) =(4.8x3.06)m* =14.69 m’
6. RN AR EE LR R TR E
@58 H:4.8x(3.3-0.24) = (4.8 x3.06)m* =14.69 m’
7. BRI R IR EE - TR E
0.2x{[(2.1+4.8+0.24) x(4.5+3.3+3.3+0.24) -2.1x(3.3-0.24)] x2-4.8 x
(3.3-0.24)} =[0.2 x(98.356 x2 -14.69) Jm’ =36.40 m’
8. MR AR AR TR &
[/ 7 &4
0.2x{[(2.1+4.8+0.24) x(4.5+3.3+3.3+0.24) -2.1x(3.3-0.24)] x2 -4.8 x
(3.3-0.24)} =[0.2 x(98.356 x2 -14.69) Jm’ =36.40 m’
9 . HEMERETEE
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